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Roll No"

Total No. of Questions : 8

srrqe{qr rrfrqqrg

frTqqts:806

T{eiTPqtr{
\

Tfrfq : 3 EUC Turf-d : 100

1x5=51. ftffiT{TnTfr Bqd -
(sT) Tq€T uvri qxq ' efr r

(e) q-*rs{rfuri ffi "' "'" ' ' ' gfr r

(€) qqurfilq {dinfqqTqqi qx1

(q) erqTftffqrnq?d qr{

(E) qET-A gei wr:

2. \r6qiq 3-dr fulaa -

vfr qiu I

8.06

(s) qe.-1wru1 ffi qof, q6 ?

(u) qTijY{rTFT q"ftr e.fd ?

(rt) qilTur s-kt trtFf,tFl /,

(q) Iurdf,rhqrqd q3 tirq. ?

(s) qfg'dnFqrrT,r+i q" fsq ?

1x5=5

1 P.T.O.



sFildfu-m.ei fqffi tdsd -
(e{) eiaffiqtnqEi qrq, :

( r ) qs:rn

(z) ds<:

(3) ifr

(+) *qrg:

(q) FsnqfqqTzr*' qr1 :

(r) qgei s<fs

(2) vffi q
(g) 3.d:

( 4 ) dq{q

(€) 3i-fr ff vFe Exetcwtwl :

(r) trqrfr

(2) trqfu

(3) trqfr

(4) ew

(q) ft e sfr qrd'ctwrq :

( 1) qkdr

(2) sTffi

(3) qffi

14 ) qTTdTrs

1x5=5

806



(E) eTfir*.Tqr{ 3TRd -
i11 1ffigq
(2) YJs: s':

(3) d:'
(+) rrtqi

4. Re{rs-d d€"Tqq -
( 3{) qriqe{Tfrr Wfrt scqTaR{FTFr qFa 

I

(q) g-dRfr esqEqs qqs\ 31fu I

(€) eT-rdfrfr EfiqT frqfffi-sq{ I

(E) sffi gfd 6-i r et-qfr I

(E) qq1 gfr sq qerq1e-g6qg1p' 
r

b. gqhiri sr-irqq -
(1) g-irtilq)

(2) *Tfr ftr€ qq.

(3) isxq:

($ *s3wn:

(5) d: {{{r T{:

G. d5fi-qsw: (++l qq) qqfrq1;

(1) crqk

(D Ttd

(3) RdC

(4) qd

(5) q{r|;nl

(t) HIPI Yr:

(tt) F"tT +A

(iiil T({:

Gu) qrd:

(u) 
"qrrrT{

1x5=5

1x5=5

5x6=30
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7.

(6) d:

(7) eler<rE

(8) ekn

(e) {m
ffirfrqrwrr - t#+q €Rl +iqtqr:

(3i) Trnfr: -T*r-* F-.'TFI feu-gr

tdl yns.q'iir. Ez.s+t-c{q 6qTur reug r

(€) q-dqT-<s sqTfrT feu-E r

(q) qq. Erfrr q-slerfir$Fq F,qrfur fuug r

(F) gq-{fl-qs srqrfuT feiu-g r

(e.) 3T{q-$Tqe, 6qTeT feog r

(@/ Tr-qv<€ Fq|.M rvu-g r

(q) lftrFT e.frrfuqTfr fu loug r

(q) *qrfq-q 
"*"*"rtry fsfla: qr'+f 

r

(s) E-qq-*): rffiq ffir
faq*grq6; qF,

q-{lrrrcgi qf,rqq: Tiqt t@: r

sTerEr

{dnfua1 {ns FyKrfr qtqlEr"i t€q: r

sTqEr

qTftf*-fiRTq f,m q-rsq ?

5x7=35

10x 1=10B.
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